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That he seized it — % O9DNT

OVERVIEW
X217 explained the reason why 15wni v moni there is no 0°903 NVAW!, because the
M9 is 0910 the 115w, Our MdOIN explains what is meant by 7°% 0°5n7.

S1a PAN YU X9 9202 192U PIYN HNNA 'Y
The explanation of the phrase °% 0507 is that he is seizing it as lawful collateral,
and the >95% makes the w97 that 70 »w does not apply when your brother’s debt
is in your hand, as is the case here where he is holding a Town.

SUMMARY
Ny AW is not NIWAT Yy 170 WA because it is 7772 TR HW.

THINKING IT OVER

According to moon that the reason why by 1ownn %y Mo there is no VMY is
because it is 77°2 7°nX YW, what does the Xnx ask from 17%n12 97 ¥M95; there it is
not 77°2 IR YW since the ypap is always in the mwA of the rightful owner?!"

' The word w11 in mooIn (usually) indicates that he is negating a different explanation. Seemingly here noon is
negating 0°5n7 172 "W, where *"wN states that the m>n is not pressing the m? for the loan. MmooIin disagrees for
even if the m>n has a 1own he is still pressing the M? for the money. In addition the rule of N>y aw X NOWnT 2y Monn
nunwn is even when the 11own is worth less than the loan, in which case the M7 is certainly ¥21n the loan.

% The 09 in 3,0 (%) ©°727 states 70 VAN AR DR T2 77 WK, from this the »190 derives that v nw is applicable
to whatever is by 7°nX (the m?); however if it is in the hand of the 1%, then n*w°2w is not vAWM (77°2 IR W RDY).

? As long as the M has in his (legal) possession any article from the m¥ this P10 teaches us that n°»°2w is not Lawn.
* See i 2.
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